e ™
\Gﬂxr = clg = log, ™=y & aT=x
log o =L, fme=1, | 7
Léﬁ 1 =0 ~ox =4 !
b | | T priint X 5O

(C Gy = was +v

7j V .
- e lme fr~ est
R _ Y\"\’é("q( '3 tiv\ ¢ 5
NERVA e £ &) ax (< v o)
" G\‘M
U4 O A\t

-y - WA ¥ ’(a}(ﬁcra)
- Sy (Rm&) A+ L@

Sor Yy T e
. — \'(a
e L) =\ g H\\;\ L e
W o
| L oo N

\M_Qd,mg&—»

j:\,\ j{wﬂ/f&,( ; Leokauler

W

& sleoe oF Tueg.

s dedwd £ON = |
fen >0

<> egn N



PR, 1
&‘\/\*\A“\Q v ?r‘\r\Qanl " CaNTa e GQ 5 ‘\(\ = R c}-@ \ ‘t—“—'— +*F C)"C
f\)a\v-& C\ocun LAV Mg Sy C—QWQQ\&'V\&(\J\j ng
S . ;
OJ \V\NSW"‘TB (w\\/ﬁ “%Q[‘tc&g ?f«-
el Yeal \jec‘r/(
W ﬂ\,«vxum.\ rote -
\/\_}\1\0/\/\ . \\S ’C\f\\*e C&w\\r\u\&k = S’\VV\@\Q v\ = {
Smowi\mask = 7
P( {4+ “'"“"’> m@w‘“ﬁ‘\'\(j o=l
WQL\CLj n= 52 3

‘ T doesw €
3

\1\5\1\9./\/\ YL (s Ve v viow s

o ppRas M Fernmala

’\A>Ok’>

Needed == sheo Sas Sy CMP&\‘@ J&Wx&(q-

S h,); =res — K?’ = e~ ot
wt

\__._
Solve £t oot . E oot




® 1
o (5 =
giEm - E|

C




€. A<by rF F = 1000 it X = 20

' P = 300
(e ¥ 7 05 K
oo BL 300 & 107
7,
3 .23 *@f% £ oo % 2B
23 =9
n — javestme Tt oxeew T reach b,$'3‘® O
o -
€. l©§>c>/> CQ"?(%\@G\%
T
1= 90,000, - = .04 \ = |
Pl eFE Wt oowts
\
CNDY - /4 o4 20N = |
(\+"£’\“|- (\+ ’
= e - o= L on oL vt rate
= Y

L‘_—' ﬂw-\—&r(



